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QUESTION 1

Click the Exhibit button.
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Referring to the exhibit, Router 1 learns about Route X.

Which statement is correct about Route X when using the default BGP advertisement rules?

A. R1 will not advertise this route to any peers.

B. R3 will not advertise this route to R4 or R5 without an explicit policy.
C. R4 and R5 will not advertise this route to each other.

D. R2 will not advertise this route to R3 without an explicit policy.

Correct Answer: C

QUESTION 2

What are two interarea OSPF LSA types? (Choose two.)
A. Type 1 router LSAs

B. Type 2 network LSAs

C. Type 3 summary LSAs

D. Type 4 ASBR summary LSAs

Correct Answer: CD

QUESTION 3

Which statement about persistent MAC learning is correct?
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A. Trunk ports require MAC addresses to be configured on each VLAN.

B. Port moves require manual operator intervention.

C. Access ports must be configured with the no-mac-learning command.

D. 802.1X must be configured on the port for persistent MAC learning to work.

Correct Answer: B

QUESTION 4

Which two statements about Martian addresses are correct? (Choose two.)
A. Martian addresses require a route prefix match type.

B. Martian addresses are not installed in the routing table by default.

C. Martian addresses can only be applied to the inet.0 routing table.

D. Martian addresses are installed in the routing table by default.

Correct Answer:. AB

QUESTION 5

The next hop for the route is not reachable.

In this scenario, what are two ways that BGP handles this route? (Choose two.)
A. The route is placed into the forwarding table as an inactive route.

B. The route is not placed into the forwarding table.

C. The route is placed into the routing table as a hidden route.

D. The route is placed into the forwarding table as a hidden route.

Correct Answer: BC
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